
Part One 
 

The answers to the anagrams are: 
 

1) IGANIPAN = PAGANINI 
 

2) RALEG = ELGAR 
 

3) AHOKTCIYSVK = TCHAIKOVSKY 
 

4) NOSIRSI = ROSSINI 
 

5) NKONWUN = UNKNOWN 
 

6) TRCEBUHS = SCHUBERT 
 

7) DAHYN = HAYDN 
 

8) YOLAKD = KODALY 
 

9) ZIALEBN = ALBENIZ 
 

The name of the Ballet is 
PETRUSHKA 

 
The name of the composer is 

STRAVINSKY 
 
 

Part Two 
 

X = 16  Y = 21  Z = 1 
 

Part Three 
 

B = 8 
 



Part Four 
 

I know that A MAJOR has 3 sharps and G MAJOR has only 1. If I were to add my two 
answers together I would have 4 sharps and I would be able to name the MAJOR key-
signature whose RELATIVE MINOR is C# MINOR. If I took the RELATIVE 
MAJOR of the answer above E MAJOR and subtracted it from the key signature of D 
MAJOR. Of course D MAJOR has 2 sharps, I would have the answer for my next clue in 
this puzzle. 
  

C = 2 
 
 

Part Five 
 

X + Y + Z =A – B = 30 -:- C = ? 
 

16 +21 +1 =38 – 8 = 30 -:- 2 = 15 
 

Dimitri Shostakovich wrote 15 complete symphonies 
 
 
 
 

 
 


